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CHE-06 : ORGANIC REACTION MECHANISM  

Time : 2 Hours  Maximum Marks : 50 

Note : Attempt any five questions. All questions 

carry equal marks. 

1. (a) Why is Iodide ion a good nucleophile 

but a weak base ? Explain. 5 

(b) State True or False : 5 

(i) Most photochemical reactions occur 

by absorption of electromagnetic 

radiations. 

(ii) Bakelite is a thermoplastic resin. 

(iii) Penicillin is prepared by growing 

Penicillium chrysogenum mould. 
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(iv) Caprolactum is a polymer. 

(v) Grignard reagents are building 

block for organic synthesis. 

2. (a) What is isotopic labelling ? Discuss the 

hydrolysis of an isotopically labelled 

ester.   5 

(b) Arrange the following carbocations in 

the order of increasing stability. Give 

reason for your answer : 5 

 

 

 

 

 

3. (a) Explain, why methyl benzene is more 

reactive than nitrobenzene towards 

electrophilic substitution reaction. 5 

(b) Complete and write the mechanism of 

any one of the following reactions : 5 

(i) 
Peroxide

3 2CH CH CH HBr      

(ii) HC CH HBr     
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4. (a) Which of the following will make a 

stable hydrate when treated with water ? 

Explain : 5 

(i) CH3CHO 

(ii) 3 2 2 3

O
||

CH CH C CH CH   

(iii) 3 3

O
||

Cl C C CCl    

(b) Complete the following reactions : 5 

(i)            

 
2

C H NHCrO Cl5 5 3CH OH   

(ii) R – CH = CHCHO  

    
Tollen‘sreagent

   

(iii)                     
Heat /h

   

(iv) C6H5CH2CH3 


2Br /h
  

(v) 3 3CH CHO NaHSO    

5. (a) State    Saytzeff ’s   rule.   Discuss   the 

reaction of 2-Bromobutane with 

alcoholic KOH. 5 
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(b) Write short notes on any two of the 

following : 5 

(i) Free radical halogenation 

(ii) Electrophilic addition 

(iii) Nucleophilic substitution 

6. (a) How will you convert the  

following ? 5 

(i) Propene into 1-Propanol 

(ii) Chloroethane into Acetic acid 

(b) Write the mechanism of any two of the 

following reactions : 5 

(i) Claisen condensation 

(ii) Pericyclic reaction 

(iii) Carbylamine reaction 

(iv) Reimer-Tiemann reaction 

7. (a) What are soaps and synthetic 

detergents ? Discuss cleansing action of 

soaps.  5 

(b) Describe any two of the following : 5 

(i) Thermosetting polymers 

(ii) Analgesics 

(iii) Carbenes 

(iv) Photochemical reaction 
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8. (a) Write the product formed in the 

following reactions : 5 

(i) Formaldehyde and Grignard 

reagent 

(ii) Acetaldehyde and Grignard 

reagent 

(iii) Ethylene and dilute KMnO4 

(iv) Benzene and Methyl chloride in 

presence of AlCl3 

(v) Ethanol and PCl5 

(b) How will you convert from the  

following ? 5 

(i) Ethyl acetoacetate into a ketone 

(ii) Diethyl malonate into a carboxylic 

acid 
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 CHE–06 

foKku Lukrd (ch- ,l-&lh-) 

l=kar ijh{kk  

twu] 2025 

lh-,l-bZ-&06 % dkcZfud vfHkfØ;kvksa dh fØ;kfof/k 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA 

1- (d) vk;ksfMu ,d mÙke ukfHkdLusgh D;ksa gS ysfdu ;g 

,d nqcZy {kkj gS \ le>kb,A 5 

([k) xyr ;k lgh dk mYys[k dhft, % 5 

(i) vf/kdrj izdk'k&jklk;fud vfHkfØ;k,¡ 

fo|qrpqEcdh; fofdj.kksa ds vo'kks"k.k ls gksrh 

gSaA 

(ii) cSdsykbV ,d rkilq?kV~; jsftu gSA 

(iii) isfuflfyu dks QQ¡wnh isfuflfy;e fØlkstsue 

ds mRiknu ls cukrs gSaA 
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(iv) dSizksysDVe ,d cgqyd gSA 

(v) fxzxukMZ vfHkdeZd dkcZfud la'ys"k.k ds 

fy, fc¥YMx CykWd gSaA 

2- (d) leLFkkfud vadu D;k gksrk gS \ leLFkkfud vafdr 

,LVj ds ty vi?kVu dk o.kZu dhft,A 5 

([k) fuEufyf[kr dkcZ/kuk;uksa dks LFkkf;Ro ds c<+rs gq, 

Øe esa fyf[k,A vius mÙkj gsrq dkj.k nhft, % 5 

 

 

 

 

 

3- (d) bysDVªkWuLusgh izfrLFkkiu vfHkfØ;k ds fy, 

esfFkycsUthu vf/kd vfHkfØ;k'khy D;ksa gksrh gS] 

le>kb,A 5 

([k) fuEufyf[kr esa ls fdlh ,d vfHkfØ;k dks iw.kZ 

dhft, vkSj mldh fØ;kfof/k fyf[k, % 5 

(i) 3 2CH CH CH HBr     

    
ijvkWDlkbM

 

(ii) HC CH HBr     
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4- (d) ty ds lkFk fuEufyf[kr esa ls dkSu&lk LFkk;h 

gkbMªsV cuk;sxk \ le>kb, % 5 

(i) CH3CHO 

(ii) 3 2 2 3

O
||

CH CH C CH CH   

(iii) 3 3

O
||

Cl C C CCl    

([k) fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 5 

(i)            

 
2

C H NHCrO Cl5 5 3CH OH   

(ii) R – CH = CHCHO  

    
VkWyUs l vfHkdeZd

  

(iii)                 
h


rki@

  

(iv) C6H5CH2CH3 2Br /h
   

(v) 3 3CH CHO NaHSO    

5- (d) lSVtsQ ds fu;e dh O;k[;k dhft,A ,sYdksgkWfyd 

KOH ds lkFk 2&czkseksC;wVsu dh vfHkfØ;k dh ppkZ 

dhft,A  5 
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([k) fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

dhft, %  5 

(i) eqDr ewyd gSykstuhdj.k 

(ii) bysDVªkWuLusgh ;ksx 

(iii) ukfHkdLusgh izfrLFkkiu 

6- (d) fuEufyf[kr dks vki dSls :ikarfjr djsaxs \ 5 

(i) izksfiu dks 1&izksisukWy esa 

(ii) Dyksjks,Fksu dks ,slhfVd vEy esa 

([k) fuEufyf[kr esa ls fdUgha nks vfHkfØ;kvksa dh 

fØ;kfof/k fyf[k, % 5 

(i) Dystu la?kuu 

(ii) ifjjaHku vfHkfØ;k 

(iii) dk£cy,sehu vfHkfØ;k 

(iv) jhej&Vheku vfHkfØ;k 

7- (d) lkcqu vkSj laf'y"V viektZd D;k gksrs gSa \ lkcqu 

dh fueZyu fØ;k dk o.kZu dhft,A 5 
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([k) fuEufyf[kr esa ls fdUgha nks ij ppkZ dhft, % 5 

(i) rkin`<+ cgqyd 

(ii) ihM+kgkjh 

(iii) dkchZu 

(iv) izdk'kjklk;fud vfHkfØ;k 

8- (d) fuEufyf[kr vfHkfØ;kvksa esa cuus okys mRikn dks 

fyf[k, %  5 

(i) QkWesZfYMgkbM vkSj fxzxukMZ vfHkdeZd 

(ii) ,slhV,sfYMgkbM vkSj fxzxukMZ vfHkdeZd 

(iii) ,sfFku vkSj ruq KMnO4 

(iv) csUthu vkSj ACl3 dh mifLFkfr esa feFkkby 

DyksjkbM 

(v) ,FksukWy vkSj PCl5 

 ([k) fuEufyf[kr dks vki dSls :ikarfjr djsaxs \ 5 

(i) ,fFky ,slhVks,slhVsV dks dhVksu esa 

(ii) Mkb,fFky eSyksusV dks dkcksZfDlfyd vEy esa 

× × × × × 


